Sociology 601

Homework #3
Assigned September 17, 2009

Due September 24, 2009

Questions from Chapter 6:

Sections 6.1 – 6.3

1.)




3.)




5.)




6.)

8.) alternative wording for 8f:  “The decision you make about the null hypothesis depends on whether 500 is in the 95% confidence interval.  Explain.”

12.) a,c,d. only.  For a) and d.), do a full 5-step test (assumptions, hypothesis, test-statistic, p-value, conclusion).

27.)

50.)  do a full 5-step test.



59.) (more than one may be correct; none may be correct)



60.) (more than one may be correct; none may be correct)

67.) 



Section 6.4

53.)

54.)

58.)

63.)



64.)

Supplementary questions:  Use a sentence to explain whether each of the following statements is true or false.

1.)  On average, using a sample size of 10 instead of 90 will produce a smaller standard deviation.

2.)  On average, using a sample size of 10 instead of 90 will produce a smaller standard error.

3.)  A t-statistic for a sample of 10 has a different p-value than an identical z-statistic for a sample of 90.

4.)  If the null hypothesis is that μ = 5.0, and the true population mean is 5.000001, the null hypothesis is incorrect.

5.)  If the null hypothesis is that μ = 5.0, and the true population mean is 5.000001, the probability of a type II error is about 100% for any plausible sample size.
Practice question for the next exam. (Try to get through this in 20 minutes.)
In a (fictitious) pilot survey, 90 adults in a large city answer the statement:  “A preschool child is likely to suffer if his or her mother works.”  

The response categories are “strongly agree”, “agree”, “no opinion”, “disagree”, and “strongly disagree”. You score the responses as –2, -1, 0, 1, and 2. 

You are interested in whether the members of the population have a net opinion about outcomes of preschool children of working mothers, so you test the hypothesis that the population mean is zero.

A.) What assumptions do you use in your hypothesis test?

B.) State the null hypothesis clearly as a sentence, then as an equation.

C.)  The sample mean is 0.55 and the sample standard deviation is 1.00

Estimate the test statistic for your hypothesis.  
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D.)  Using your text or STATA, estimate the p-value for your test statistic.  (Be sure to use a 1- or 2-tailed p-value to correctly match your null hypothesis.)

E.)  Briefly state a conclusion. (Use the back of the page if you need space.)

F.)  Fill the correct spaces in the following table.  (NO sentences required)

a:  Correctly reject null hypothesis

b:  Type II error

c:  Type I error

d:  Correctly do not reject null hypothesis

	
	
	State of Reality

	
	
	Population mean is zero
	Population mean is not zero

	Your Conclusion
	Population mean might be zero

	_____________________
	_____________________

	
	Population mean is not zero
	_____________________
	_____________________
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